SONYLY,
ATSII

TILT ERFH



TILTA FOR SONY A7S3 RIG

A7SII

TILTF7 | TILTAING



SONY A7SII RIG

[(Ef53#3i508]

[AE:#-2 5
pieEn
/a0

H 1)
TR

\_’\% #OMR

oo |Of o

[0)
=N

—AiRit
TELFR
WFESL

MBF,
=0

TRENATORS
ERRFAEES
TREGRER
fEnEinBES
B, SEHEE.

) ARRIF

1w
ThEER
TILTAING
#RFAR,

NATOfi%
(am]

iz EFIE
MFHSE

° © Tite0 (1] © BFISmMmSHAL. © AT ARSI,
© FiRFMERREDR, @ H15mm 4L, @ 360",
o © FEEBRETILTAIS MR,
ERLEFR BRLEFR REEFR T RIFAR+ Fer

[o1]




@ smmsHEn

[£ERFR]

@ Enm;

© smmsEERSED
O sux EN

© mwEn
0O /433
[ATESHER TEERARER]
@ #HEn
(A BERHHT R U R
@ =emE0
@ IR REM
[FIEhESE EFIR SERFIRE R
@ 14mmEsn EEHOMIEEEH)
@ xR
@ NATOER
(a4 EFR/MFHEEH]
@ Tyre-caxERELd

@ wwzn

© FEERELL (FTEYAETL
NATOB%
[T EF RN F RS R

@ suzn
(A4 LR MGTRAE

© rEEgO

@ 1/4zmEgn
[FIRESNERESRI
@ 147 EEEN

—FIRUIRTF

ERHIRBITESS T RERBAY
SBUIRF, JTRIBLRD
RECEZS 0N

B —righs, Rigds

BeEFTRRIT RS
RSN 1 | . B

S SR

22,

[02]



[FiRRFIR]

REET
HRLEFR
5] = 2
RETRBRE, ——1
BT RE SN <o ’ '
gﬁwﬂ%ﬁﬁ”m BLEFBIANETTR EAEFREGHFR

. U1 AL BRIRLRISERAATE,
BRALFR
(18]
BSOS HETRE
ERI BRI ; BISmMmSHERI N, AL
HFHS. { EVFSRHY BN,

BLEFBIANETTR BN FFREGHFS
AR AT RIRLRISERAATE,

B EFIR IRETRIARAEE, TELiERETR

] S/ B, CAER,

1 TR0, A%
(1] FHRPHL, TREHTS,
BEFR RS
S EARRIF AL

il 3 BN\ LFIRESFRMRRL

EE e

[ 180° i3t |
BERE180°, MFIR
IR,

[03]




[iB5R/HDMIZ /&R L eI/ REIFHH/ NATOR BRI

REUFHBHNATOBREBHRRET

p— S - RO /449443,
ey B pEsssuems 1 [elagis ey

PRAEER,

SHAFFNatoBEREE
EHFHE, BFR
TRBAAMEE.

FEHDMILSANMURA SRR R XIRIfSIT R L
giﬁﬂﬂ%‘?%ﬁgﬂ JATERIR BPRISERRES.

BANBRETEFA
BPRISERRRD.

REFHEREype-c 8V, DC OUT 12VHFMWIHED, IMEREHEM
RERERERE MEAFNERFSMGERA, Bi7FE.

AN

[04]



[RERFAR/ S Ht/ R IR/ R EERRIS]

AERFRALURERT
1

FANFFNatoiBS
T, B

FzLBAG

Mgz,

— D

BNBREFRFE
BRI SERRARD.

ESHXIRARFRIR
BBEO1/ATERLREAL

RIS RARLLBIRT 5o,
B

[05]

XREFREABHIE1/4
i teeibe S|
JREEBR,

<RI >

&>
@ PRI
@ <BmEHE>

RABRIFERT % <R HRAR>
<SEERIR>, REHIMN
AR,

YRS RIRLLENR]
STARERER.

TSR 2BA
BIRE, ke
FRBRMETTX,




[ERATS3EMHEIRE]

MUTEGTRERKES2EEERER

TA-T18-FCC

2%

TA-QRTH5

H5 EFiR

TA-QRTH4

R EFR

TA-LRH-57 / TA-AHA6-L

REIFHE

TA-RWH / TA-AHA6-R

KREFHE

TA-T18-CC2

HDMIgsk

TA-T18-CC1

iRk

B

TA-SRA-15

WE R

TA-BSP2-15

15mmiEFAREE

TA-T37-LAS

BRI

TA-NRA-36

-

=

TA-T18-BP

B FRER R

TA-T18-QRBP3

SEERR

=y

FI-R AR

wH

f@ ey

[06]




SONY A7SII RIG

[CAGE MANUAL]

A FULL CAGE
DETAILED DEMONSTRATION /#/

Standard 3/8
w01/

Side cold
shoe mount
[Top]

S22 for adapiing

microphone

mounting point
[Top]

other

\_J  Cold Shoe Mount!
r, Siot

Top]
oo |Of o(Jo «‘,ZS’SJ:ET’WS’SE”

or side handles etc.

Arri rosette
[Right]

1/4 screw hole
[Lefy

For mounting
Tiltaing angled
handle

mounting NATO
slot for side
handle adaptor
mounting quick
release plate for
gimbal etc.

NATO slot
[Right]

For mounting
top or side
handle etc. SAG11

o w Handle can be moved or t5mm rod
et o © pordeanbe o ° @ Dovetail plate: @ 15mm rod hole @ Handle can be 360 degree
© randie con b adjusted for porraitor acjusted with the adaptor

h © Compatible with TILTA 15mm dovetal plate.

mounting support accessories.

shoe

mount with sop bock. <hoe mount vith top black. @ Front and back double cold shoe mount with stop block

Recording Handle
* Rotation Adaptor

n ®

Universal Top Handle Standard Top Handle D Freestyle handle Baseplate

[07]



[FULL CAGE MANUAL]

@ 15mm dovetail plate

@ Anti-spin stop block

© 15mm rod mounting hole

@ screw hole for lens supporter

© For wrist strap @ For wrist strap
@ 1/4 screw hole @ Sstandard Arri mounting hole
se plat [Can be converted to 1/4 screw hole]

[For tripod quick release plate] ® NATO siot
@ Cold shoe mount [For top or side handle etc.]

[For microphone, lighting etc.] @ Cold sh ¢

old shoe moun
@ Fror safety strap [For mounting top handle/
cold shoe mount etc.]

@ Standard Arri rosette @ 1/4 screw hole

[For top handle or extension handle etc.]

174 screw hole
@ 174 screw hole [For HDMI adaptor ®

[For mounting rod adaptor etc]

@ standard Arri mounting hole @ 1/4 screw hole
@ NATO slot @ 1/4 screw hole
[For top o side handle etc [For mounting dovetail plate etc.]

@ screw hole for TYPE-C cable clip @ Slotted Screwdriver
[Magnetically attached to the cage]

Fasten the screw
using the magnetic

screwdriver.

Install SONY A7SlI n E Take out the screw from Rachedto the baveof the cage

onto the cage the camera then insert
it into the screw hole.

[08]



[TOP HANDLE]

HOwW INSTALL TOP HANDLE

Standard

Top Handle
[Optional]

By pressing the top
button, handle can
be switched to
different holding

Mounting the top handle n
position.

to the 1/4 screw hole

FUNCTION DEMONSTRATION

Universal Top Handle
[Optional]

Can be quickly attached
to the cage, giving you
enhanced shooting P
stability. i

Mounting the top handle n
to the 1/4 screw hole

15mm rod hole can be used
for mounting EVF and other
accessories.

Freestyl e handle Adjustthe handle to different positions
(Optional] for portrait or landscape shots.

Mounting the top handle
onto the Arri rosette.

Push down then spin
the handle 90 degrees.

[ 180 degrees
portrait mode ]

Spin 180 degrees,
switch top handle
to side handle.

[09]



[ NATO slot/cable clips/Recording handle/NATO adaptor]

HOW TO INSTALL RECORDING
HANDLE AND NATO ADAPTOR

HOW TO INSTALL NATO SLOT

Attach the NATO adaptor Press the button
onto the 1/4 screw hole. for 360-degree
adjustment.

Attach the NATO slot E Fasten the screws
onto the 1/4 screw holes.

HOW TO INSTALL CABLE CLIPS

Loosen the screw on

the NATO adaptor
then slide the handle

Attach the cable clips H Fasten the screws into the slot.

onto the 1/4 screw holes.

Fasten the screw

Cable clip

The nominal voltage for the recording handle is 8V and
12V. Please do not exceed. Damages caused by inappropriate
operation will not be entitled to warranty




[Wooden handle/Cold shoe/Quick-release plate/ Baseplate]

HOW TO INSTALL WOODEN HANDLE
AND COLD SHOE MOUNT

Loosen the screw
on the NATO adaptor,
then slide the handle
into the slot.

Attach the cold shoe
mount onto the 1/4
screw hole

Fasten the screw

QUICK-RELEASE PLATE/ BASEPLATE
INSTALLATION

Mounting the universal

plate onto the 1/4 screw holes.

@ <Universal sliding plate>
@ <Arca standard plate>
@ <Manfrotto standard plate>

Same mounting position for
Arca and Manfrotto plates.

Fasten the screw

Attach the baseplate until
the safety pin is bounced back.

[



[ SONY A7SIIl ACCESSORY CHART]

/il BUILD YOUR VERY OWN SONY A7SIIl CAGE

TA-T18-HCC

Half Cage

Quick Release
Handle

TA-QRTH5

Standard
top handle

Freestyle handle

TA-LRH-57 / TA-AHAG-L

Tiltaing Side
Advanced Power
ndle

Tiltaing Side
Wooden Handle

TA-T18-CC2

HDMI Cable
Clamp Attachment

TA-T18-CC1

USB-C Cable
Clamp Attachment

TA-SRA-15

15mm Side Single
Rod Holder

TA-BSP2-15

Tiltaing 15mm
LW Baseplate

TA-T37-LAS

PL Mount Lens
Adapter Support

TA-NRA-36

Tiltaing 36mm NATO
Rail Attachment

TA-T18-BP

Bottom Plate

TA-T18-QRBP3

Manfrotto Quick
Release Plate

=

TA-T18-QRBP4

ARCA Quick Release Plate

Cold Shoe

[12]



